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–א א–١ אאא 
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אאWאאאאאא
אK 

אאW 

אאאאאאW 

F١KEאאאאאK 

F٢KEאK 

F٣EKאאאאאא
אאK 

F٤EKאאאאאאK 
F٥KEאאאK 

  

אאאWאא٨٠K٪ 

אאW٨ 
 
 
 
 
 
 
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–א א–١ אאא 
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אאא 
W 

אאאאאא
אא

אאאא
אאא،אא

אאאאאKאאא
א،אאK 
 

אאאאאאאא
אא،א،אא

אאאאאאאא
אאאאK 

 

אאFאאE 
F٨ J١WE 

אאאא  I1   I2אאאא R1      R2   R3א
אא

F٨ J١KE 

 

אF٨ J١E  
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–א א–١ אאא 
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אאאאא
אאF٨ J١E،אא1І2I

אאאF٨ J٢EK 

 

אF٨ J٢E  

 

אF٨ J٣E  

אאאאא
אאF٨ J٣EאאW 

 

 

 

אאאF٨ J٣EאאW  

 

 



א ١٠٦ אאא 

–א א–١ אאא 
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אאאאאF٨ J٤EW 

 

 

אF٨ J٤E  

אאאאאאא  

 אF٨ J٥EK I2 = -1A  

 

אF٨ J٥E  

אאא  

אF٨ J٦EK   2 Ω א I1 – I2 



א ١٠٦ אאא 

–א א–١ אאא 
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אF٨ J٦E   

אאW 
 

F٨ J٢E 
אאאאאאF٨ J٧E

א1א2אאאא
0אאא 1V10א2V2
0V1 V2א0אאאא

אW 
1 

 
אF٨ J٧E 

 
[(V1 – 12)/3] + [(V1 -0)/6] + [(V1 –V2)/10] = 0  

 



א ١٠٦ אאא 

–א א–١ אאא 
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אאאא2W 
 

[(V2 – V1)/ 10 + [(V2 – 0)/12] -2 =0  
 

אV1V2א٦W 
 

     I2 = (V1 – 0)/6 

אאאאאא
אאאאK 

 

אאW 
 

אאא،אאאא
אאאאאK 

 
F٨ J٣WE 

אאא٦אאאאאF٨ J٨Eא
אאK 

 
אF٨ J٨E 



א ١٠٦ אאא 

–א א–١ אאא 
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אW 
אאאא

אא،אאאא
אאKאאKאא

אF٨ J٨KE 

 
F٨ J٨E  

א3א63Kאא6W 
I = 3 [(1/6)]/ [(1/6) + (1/3)] = 1 A  

אאW 
         V1 = 6 x 1 = 6 V 

אאאאאא
F٨ J٨Eא2Іא6K 

 
אF٨ J٨E 

I2  = 18 / (3 + 6) = 2 A  
אאW 

         V2  = 2 x 6 = 12 V 



א ١٠٦ אאא 

–א א–١ אאא 
 
  

  - ١٤١ -

6Wאאא 
I = I1 + I2 = 1 + 2 = 3 A  

       V = 6 + 12 = 18 V 

F٨ J٤WE 
אאF٨ J٩Eא IאאאK 

 

אF٨ J٩E  

אאאאFא
אאאE،אאאאKא

אא10א20אאK
אאאאF٨ J٩KEא،אI1 

0,0636K 

 

אF٨ J٩E 



א ١٠٦ אאא 

–א א–١ אאא 
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א10،אאאF٨ J٩KEאI2، 

 
אF٨ J٩E 

I1 = 0.0636  A 

I2 = 1.744  A 

 

I  = I1 + I2 = 0.0636 – 1.744 = -1.68 A 

F٨ J٥WE 

אІאF٨ J٩EאאK  

Wא 

אF٧ J٨E،אאאОK
אאאW 

[(10 – V1 )/6] – (V1/1) – [(V1- V2)/2] = 0 

[(V1 – V2 )/2] – (V2/3)-  [(V2 – 20)/10] =0 

2V3.2W 

I = (V2 – 20)/10 = -1.68 A 

אאאא
K 



א ١٠٦ אאא 

–א א–١ אאא 
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F٨ J٦WE 

אאאאאF٨ J١٠E
אאK 

 

אF٨ J١٠E 

אW 

אאאאאא
אאאאKאאאאא

אאאW 

 JאאF120VEאFKE 

 
I1'אאא 

R' = 10 + 20 + 10 = 40 Ω   

אאא 

40

1

40

11


Rab
  

    Rab = 20 Ω  



א ١٠٦ אאא 

–א א–١ אאא 
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אאW 

R = 20 + 15 + 15 +30  = 80 Ω  

    I1' = 120/80 = 1.5 A  

I2'،אאa،bK 

Vab = I1' x Rab = 1.5x20 = 30 V   

I2' = 30/40 = 0.75 A   

I3' = 30/40 = 0.75 A   

 JאאF14 VEאFEאאW 

I1" = 1.5 A,  I2" = 3.75 A, I3" = 2.25 A  

 JאאF60 VEאFEאW 

I1"' = 0.375 A, I2"' = 0.562 A, I3"' = 0.937A  

 



א ١٠٦ אאא 

–א א–١ אאא 
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אאאאאאאאK 

I1 = I1' + I1" + I1"' = 1.5 + 1.5 + 0.375 = 3.375 A   

I2 = I2' + I2" + I2"' = 0.75 + 3.75 – 0.562 = 3.938 A  

I2"'אאאI2'I2"אאא،
אאI2אאI2'I2" 

I3 = I3' + I3" + I3"' = 0.75 – 2.25 + 0.937 = -0.563 A 
אאI3،אאאא

אI3"K 

  


